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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21* Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school hoard examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-vear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

What is the meaning of the word omnibus?

(1) All pervasive (2) Pragmatic
(3) Compendium (4) Vehicle

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.2
QBID:1001002
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21* Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school hoard examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-vear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

What are the challenges the NEP 2020 is bound to face, according to the passage?

(1) Resistance from students to the new proposed changes
(2) Creation of new text books across the various states is a challenging task
(3) Working to create consensus with the states on implementation
(4) Shockingly poor literacy and numeracy outcomes in primary schools
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : D
Sl. No.3

QBID:1001003




The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21* Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school hoard examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-vear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

Which problems does the NEP 2020 aim to eliminate?

(A) Problems of pedagogy (B) Structural inequalities

(C) Rampant commercialization (D) Access symmetry

Choose the correct answer from the options given below :

(1) Only A

(2) Only Band C
(3) Only A, Band C
(4) Only A, Cand D

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.4
QBID:1001004
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21* Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school hoard examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-vear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

Which of the following provisions of the NEP 2020 would generate least friction?

(1) Provision of an energy filled breakfast in addition to mid-day meal
(2) Creation of an apex body for fee-regulation
(3) Imposition of English as a universal medium of instruction
(4) Creation of an apex body to administer aptitude tests
(A) 1
(B) 2
(©) 3
(D) 4
Answer Given by Candidate : Not Answered
SI. No.5

QBID:1001005
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The National Education policy 2020 announced by the Ministry of Human Resource
development sets for itself the goal of transforming the system to meet the needs of
21* Century India. In a federal system, any educational reform can be implemented only
with support from the States, and the Centre has the giant task of building a consensus on
the many ambitious plans. The policy, inter alia, aims to eliminate problems of pedagogy,
structural inequities, access asymmetries and rampant commercialisation. The NEP 2020 is
the first omnibus policy after the one issued in 1986, and it has to contend with multiple
crises in the system. It is no secret that primary schools record shockingly poor literacy and
numeracy outcomes, dropout levels in middle and secondary schools are significant, and the
higher education system has generally failed to meet the aspirations for multidisciplinary
programmes. In structural terms, the NEP's measures to introduce early childhood education
from age 3, offer school hoard examinations twice a year to help improve performance move
away from rote learning, raise mathematical skills for everyone, shift to a four-vear
undergraduate college degree system, and create a Higher Education Commission of India
represent major changes. This is a long-held view, and has its merits, although in a large and
diverse country where mobility is high, the student should have the option to study in the
language that enables a transfer nationally.

There are some good elements to the NEP 2020 that will generate little friction, and need
only adequate resourcing. Provision of an energy-filled breakfast, in addition to the nutritious
mid-day meal, to help children achieve better learning outcomes. is one, Creation of ‘inclusion
funds' to help socially and educationally disadvantaged children pursue education is another.
Where the policy fails to show rigour, however, is on universalisation of access. both in
schools and higher education: the Right to Education needs specific measures to succeed.
Moreover, fee regulations exist in some States even now, but the regulatory process is unable
to rein in profiteering in the form of unaccounted donations The idea of a National higher
Education Regulatory Council as an apex control organisation is bound to be resented by
States. Similary, a national body for aptitude tests would have to convince the States of its
merits.

What is the author's stand about the NEP 2020 in the above passage?

(1) Moderately eritical and supportive
(2) Wholly critical of the policy

(3 Wholly supportive of the policy

(4) Not at all clear from the passage

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.6
QBID:1001006

Identity the correct tense used in : ‘She will have been waiting for you.

(1) Future perfect (2) Simple future

(3) Future perfect continues (4) Future continuous

(A)
(B)
©)
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.7
QBID:1001007
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Identify the correct tense used in : ‘I am doing the task assigned to me'.

(1) Present perfect (2) Simple present

(3) Present continuous (4) Present perfect continuous

(A)
(B)
©
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.8
QBID:1001008

Identify the correct poetic device in ‘Silvery sunlight’.
(1) Alliteration (2) Simile
(3) Metaphor (4)  Symbolism

(A)
(B)
©
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.9
QBID:1001009

Find the most appropriate meaning for the following idiom : ‘First in, best dressed’.

(1) To be well read (2) Tohave an advantages
(3) To have the latest fashion (4) To spend a lot of money

(A)
(B)
©
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.10
QBID:1001010

Find the most appropriate meaning of the following phases: "Man of letters".

(1) A professional letter writer (2) A literary person

(3 A very important man {4) A post master

(A)
(B)
(9]
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.11
QBID:1001011

Find the most appropriate antonym for the word ‘Callous”.

(1) Sensitive (2) Clumsy

(3) Hopeful (4) Excited
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(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

SI. No.12
QBID:1001012

Find the most appropriate synonym for the word ‘haffle’

(1) Livid (2) Question
(3) Confuse (4) Furious

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.13
QBID:1001013

Select the word segment that substitutes (replaces) the bracketed word segment correctly and
completes the sentence meaningfully. Select the option ‘no correction’ required’ if the sentence
1s correct as given.

I know how devoted (to the previous code and the honour vou are, Gabriel)

(1) To the precious code and ones honour you are, Gabriel
(2) To the precious code and your honour you are, Gabriel
(3) To the precious code and an honour yvou are, Gabriel
(4) No correction required
(A) 1
(B) 2
(€) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.14

QBID:1001014
Which of the following poets is not associated with metaphysical poetry?

(1) Philip Sidney (2)  Andrew Marvell
(3) George Herbert (40 Henry Vaughan

(A)
(B)
©
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.15
QBID:1001015

Select the word that is similar in meaning to ‘abject’

(1) Senile (2) Perfunctory
(3) Putrid (4)  Obsequious

(A) 1
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(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered

Sl. No.16
QBID:1001016

Fill in the blank with the correct preposition:

I will see you ——— the morning
(1) at (2) on
(3) in (4) for

(A)
(B)
©
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.17
QBID:1001017

Identify the gerund correctly in the given sentence: ‘painting isn't just a form of art, it is a
form of therapy’

(1) Therapy (2) Art

(3) Isn't (4) Painting

(A)
(B)
©
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.18
QBID:1001018

In the following sentence : “He speaks in a more polite tone than most men ['ve met.” ‘more
polite’ is a form of :
(1) Abstract noun (2) Superlative

(3)  Comparative (1) Positive adjective

(A)
(B)
©
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.19
QBID:1001019

Which of the following words is spelt correctly?

(1) Vaccum (2) Vaccuum

(3) Vaacum (4) Vacuum

(A) 1
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(B) 2
() 3
(D) 4
Answer Given by Candidate : D

Sl. No.20
QBID:1001020

In which of the following sentences ‘have’ is not used as an auxiliary verh?

(1) I have lost all faith now (2) I have never been to pine before

(3) I have a shower every morning (4) I have admitted by fault

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.21
QBID:1001021

Which of the following word-sets contain the same vowel sound?

(1) Bite-kite-site (2) Like-lick-luck
(3 See-sick-say (4) Ball-bell-hill

(A)
(B)
©
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.22
QBID:1001022

In 1928, the book Gay-neck: The story of a Pigeon won the John Newbery medal’. It was
written by

(1) Dhan Gopal Mukerji (2) R.K. Narayan

(3) Mahadevi Verma (4) Sarojini Naidu

(A)
(B)
(D)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.23
QBID:1001023

Which Indian novelist got nominated for Nobel prize in literature several times but did not
get it?

(1) Arundhati Roy (2) Amitav Ghosh

(3) R.K. Narayan (4) Prem Chand

(A)
(B)
©
(D) 4

Answer Given by Candidate : A

W N =
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SI. No.24
QBID:1001024

Which of the following is not written by Ruskin Bond?

(1) The blue umbrella (2) Dehradun is not far

(3) Roads to Mussorie (4) The room on the roof

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.25
QBID:1001025

Who among the following is a novelist?

(1) Toni Morrison (2) Chetan Bhagat
(3) Marry Oliver (4) Neil Postman

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.26
QBID:1002026

Which of the following is not a classical dance form?

(1) Bharatnatyam (2) Manipuri
(3) Mohiniyattam (4) Kudiyattam

(A)
(B)
(©)
(D)

A W N =

e # & a1 it 3o 7 27

(1) Wi (2) o
(3) wifefrgs (4) FeeA

(A) 1

(B) 2

(Cc) 3

(D) 4

Answer Given by Candidate : B

Sl. No.27

QBID:1002027
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Arrange the following plans in accordance of their chronological order, the recent one comes
first

{A) Bombay plan (B) Gandhian plan

() People’s plan (D) Sarvodaya plan

Choose the correct answer from the options given below :
(1) (A), (C), (D), (B)
(2) (A), (D). (B), (C)
(3) (A), (B), (C), (D)
(4 (A), (B), (D), (C)

(A)
(B)
©
(D)

A W N =

Freafefaa wmEi(@ema) #t 3% g @ sy F FenagEn @ 3 srafen fif)

(A) =9 I (S g

(B) i @ (ifeandt i)
(C)  faeg @ (S Fte)

(D)  wdied WA

Hat fou e faseedi § @ adt sw v i
(1) (A). (C), (D). (B)
(2) (A), (D), (B), (C)
(3) (A), (B). (C). (D)
(4) (A), (B), (D), (C)

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.28
QBID:1002028

Under a normal curve x+3¢c (sigma) covers :

(1) 99.37 percent (2) 99.23 percent
(3) 09.73 percent (4) 99.32 percent

(A)
(B)
©
(D)

A W N =




fereft \mT=T 7% % Il x+ 30 (fam) siafdse =@ 2

(1)  99.37 yfqsm (2) 99.23 qfqwma
(3  99.73 ufgwma (4) 99.32 uffwma

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.29
QBID:1002029

Which of the following is a tributary of Ganga?

(1) Krishna river (2) Luni river
(3) Kali river (4) Tista river

(A)
(B)
(©)
(D)

A W N =

fr= 8 & s-dt T Hi wEEs TR

(1) FHE0T Adl (2) o =
(3) e Tl (4) T 18

(A)
(B)
<
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.30
QBID:1002030

Who among the following is world's first woman Prime Minister?

(1) Indira Gandhi (2) Angela Markel
(3) Sirimao Bandaranaike (4) Hillary Clinton

(A)
(B)
(©)
(D)

A W N =

= § & 9 fava ) vam wfyen vom 5f §7

(1)  =fen m (2) U Qrhe
(3  Todmsh YeieEs (1) feertt fasen
(A) 1

(B) 2




(c) 3
(D) 4
Answer Given by Candidate : A

Sl. No.31
QBID:1002031

PV Sindhu won ——————— medal at women's singles in Badminton at Olympic 2020

(1) Gold (2) Silver

(3) Bronze (4) Consolation

(A)
(B)
©
(D)

A W N =

st 2020 F S S ora ufeen gema g R A fgy 3 — wes sfia

(  w@i (2) @A
(3) w= (4) HieaEmEA

(A)
(B)
<
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.32
QBID:1002032

Which among the following is a domestic first class ericket tournament?

(1) Deodhar tournament (2) Salim Ali tournament

(3) Duleep tournament (4) Santosh tournament

(A)
(B)
©
(D)

et & w1 ey o A Firke e 27

(1) 2= e (2) wefin 3w gAfHe
(3)  feeft gl (4) e

(A)
(B)
(©
(D) 4

Answer Given by Candidate : D

A W N =

W N =

Sl. No.33
QBID:1002033




Right to Education Act (2009) came through

(1) Eightieth constitution amendment
(2) Eighty fifth constitution amendment
(3) Eighty sixth constitution amendment

(4) Eighty eighth-constitution amendment

(A) 1
(B) 2
(c) 3
(D) 4

fonan =1 sferm sfufem (2009) fea donvm % afom e sfufafim g

(1) 80 =f gfqu= gwy= (2) 85 of Gfeum geiem
(3) 86 =i dfaum geieE (4) 88 =f gfyum geiem

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : A

Sl. No.34

QBID:1002034

The literary work dealing with Qutub ud din Aibak

(1) Minhaj us siraj {(2) Khazain ul Futuh
(3) Turkan i chahalgani (4) Taj ul-Masir

(R)
(B)
©
(D)

A W N =

% Enfefers Fft 0 $I9-33-40 L% @ wafem 2

(1) foee 38 faos (2) @9 3 Bam
(3)  GHE-T-TEerTH (4) @ 34 - T

(A) 1

(B) 2

() 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.35

QBID:1002035
Who was the last Nanda ruler, who was defeated by Chandragupta Maurya?

(1) Ghana Nanda (2) Mahapadma Nanda
(3) Dhana Nanda {4) Maha Nanda

(A) 1




(B) 2
(©) 3
(D) 4

ST @ wgE o g utye g6 aren sifim Sedsi s w2 e

(1) IPEIEEH (2) HaMsH=
(3 HHE (4) wEHE

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.36
QBID:1002036

India will welcome Cheetah from ——————— under cheetah relocation plan.

(1) South Africa (2) Kenya
(3) Mali (4) Rawanda

(A)
(B)
©
(D)

A W N =

i A FEFEE F d5d 9EA H T 59 ° =il o | ® 27

(1) =& a1 (2) ==
(3) == (4 T
(A) 1
(B) 2
(©) 3
(D) 4

Answer Given by Candidate : B

Sl. No.37
QBID:1002037

Which of the following states is first one to give community Forest Resources Rights?

(1) Odisha (2) Chattisgarh
(3) Madhya Pradesh (4) Arunachal Pradesh

(A)
(B)
(©)
(D)

A W N =




ametfae g9 Famya wfasr 1 9ren yum Usg wmE-T 27

(1)  afem (2) ST
(3) H% Ww (4) EITEE TEW
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.38

QBID:1002038

Which of the following countries is the winner of Thomas eup, 20227

(1) China {(2) Indonesia
(3) South Korea (4) India

(R)
(B)
©
(D)

A W N =

fr= & & - 2w g w9 — 2022 % e g

(n == (2) FEHfwEn
(3)  gferm wifen (4) W

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : D

Sl. No.39

QBID:1002039

Given below are four statements. Choose the most appropriate

(1) Sex and gender are both biologically decided

(2) Sex and gender are both socially decided

(3 Sex is decided socially, gender is decided biologically
(4) Sex is decided biologically, gender is decided socially

(A) 1
(B) 2
(c) 3
(D) 4




= =r wya feu mo ) weg afem w1 gfog

(1) e idifmaafufaams
2 o uE e et & gfes w0 @ fuffm am 2
(3  fom g, aun Sie e w0 @ Fuifa &6 2
(4)  fom S, qen Ster gt =9 & fuifa S 2

(A)
(B)
©
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.40
QBID:1002040

If the economy is operating at potential GDP, an increase in the money supply will lead to

(1) Stagflation (2) Structural inflation
(3) Demand side inflation (4)  Supply side inflation

(R)
(B)
©
(D)

A W N =

Ife, wefeeren war= LS, W v 2, |9 95 ANl 4 gl e AR At el

(1)  wHifageg Ty (F2Teee) (2) TIEHTEE G
(3) = v gErfit (4) =M vafr gzeefifa
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.41

QBID:1002041

Basic postulates of Marx's political philosophy include

(A) Historical materialism
(B) Class-struggle

(C) Theory of surplus value
(D Individual freedom

Choose the correct answer from the options given below :

(1) A and B only
(2) A, Band C only
(3) A and C only
(4) B, C and D only

(A) 1
(B) 2
(c) 3




(D) 4
1 % Teria g % genE det § afed 8
(A el viftwar

(B)  wi-wed
(C) sifafrs qew *1 fagia
(D)  =aferra

fra feu mu fasweti # & o s %1 v Fifaw
(1) et AR B

(2) SHEa A BanC

(3) e A3 C

(49 HEAB CITD

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.42
QBID:1002042

The POCSO Act 2012 was amended in the year

(1) 2019
(2 2017
(3 2015
(4 2013
(A) 1
(B) 2
(c) 3
(D) 4

gt (POCSO) wae 2012 wt fomm = gviifus e e

(1) 2019
(2) 2017
(3) 2015
(4) 2013
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.43

QBID:1002043




Match List I with List IT

(4)
(B)
(C)
(D)

List I
Author
Aristotle
Karl Marx
Rousseu
J.5. Mill

List IT
Books
()  Politics
(ITy The communist manifesto
(I} The social contract
(IV) On liberty

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IT), (C)-(IV), (D)-(IIT)
(2) (A)-(D), (B)-(IL), (C)-(IIL), (D}-(IV)
(3 (A)-(IV), (B)-(I1I), (C)-(L), (D)-(II)
(4 (A)-(ITD), (B)-(IL), (C)-(I), (D)-(IV)
(A) 1
(B) 2
(c) 3
(D) 4
g1 % @ =11 #1 faem $ifaa .
=11
reca
(A) &,
(B) HrerHmEd
(C) ==
(D) H.ug.fo=
#41 few o fammedi § O of 39 &1 999 i
(1) (A)-(1), (B)-(II), (C)-(IV), (D)-(I1I)
(2) (A)-(D), (B)-(II), (C)-(ILI), (D)-(IV)
(3) (A)-(IV), (B)-(I1I), (C)-(I), (D)-(II)
(4) (A)-(1ID), (B)-(1I), (C)-(I), (D)-(IV)
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.44

QBID:1002044




The child labour (prohibition and regulation) Act 1986 was amended in 2016. The Amended
Act

(1) Completely prohibits the employment of children below 14 years

(2) Allows certain specific employment possibilities for children below 14 years

(3) Allows children to be employed in the work that their parents may be doing

(4) Completely allows all kinds of employment of children below 14 years

(A) 1
(B) 2
(c) 3
(D) 4

e H9 (UE9Y U faEea ) AtaqEE 1986 | Fentad T 74| S AraEE -

(1) 14 =9 3 =8 30 & o= % HH F T Y0 Tieay = 2

(2) 14 =9 ° 5 39 & =1 Bl TS G99 98 & UM =l F2 Al B

(3) ==l 1 S HEI I WA WS ST 2 A I ATEEE 6 F =
(4) 14 99 © = 39 & =1 B THAT 9 THE F FH F H G 5 E

(A)
(B)
(D)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.45
QBID:1002045

UNESCO advances peace, sustainable development and human rights by facilitating
collaboration among nations through five major programme areas:

(1) Education, natural sciences, social sciences, culture and communication
(2) Education, physical sciences, technology, information and trade
(3) Eduecation, natural sciences, economics, museums and heritage sites
(4) Education, physical sciences, technology, trade and heritage sites
(A) 1
(B) 2
(c) 3
(D) 4

fr= d & o5 ule meepl wEwdl § mem &, gae, fofim ogl & e wifa, gafee fem @
AraTfasr 38 e @ wgm w1 agm g 2

(1) e, wipfos famm, arfaes fasm, d@wfd @ g=9m
(2  foen, wls fagm, afh, g v =mm

(3)  foen, wefae fasmm, sl s, duEen vd wlE e
(4  Tonem, wrnfern fom, Aeiiehl, =ITOR UE e T

(A) 1
(B) 2
(©) 3




(D) 4
Answer Given by Candidate : C

Sl. No.46
QBID:1002046

What was the original full form of UNICEF?

(1) United Nations International Children's Emergency Fund
(2) United Nations Integrated Children’s Education Fund
(3) United Nations Integrated Coalition And Emergency Federation

{4) United Nations International Children's Education Federation
(A) 1
(B) 2
(©) 3
(D) 4

Zfiaw (UNICEF) &1 areafae: quf 91 & 417

(1) IS F9d 3evre faegTg st $s
(2)  gRes AvE i facgTy ughIE w3

(3) T v §IcE wifersia gt e

(1) FETEeE AWE fevae faegad Ughve HEw

(A)
(B)
©)
(D) 4

Answer Given by Candidate : Not Answered

W N =

Sl. No.47
QBID:1002047

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : There shall be a Council of Ministers with the Prime Minister at the head,
to aid and advise the President who shall, in the exercise of his functions,
act in accordance with such advice.

Reasons (R) : The executive power of the Union shall be vested in the President and shall
be exercised by him either directly or through officers subordinate to him in
accordance with this constitution

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

(A)
(B)
©
(D)

A W N =




49 Z1 %o U U E  u st (Assertion (A)) F =0 fofaa 2 a0 T 34 # FAT (Reasons (R))
FEIH :

AfFaE (A) TR F Aged ® TMgUE il TEE = SR 3 TR o7 F 60 vF qeims we

F (R) : a1 ATTEE (FEEE) A TPaE § AT 200 5w Teud SEeE F SEEE 9o
TeA B H A9ET A9 IRy aaEEl % OTeAE § 2 Rl B 9=

I FF F W °, 99 50 T T § o w9d 30 S H =991 Fiae

(1) (A) 31 (R) =M1 T3 # 31 (R)., (A) i =27 == &

(2) (A 3R (R) =M1 a9 2, =it (R), (A) Fi T1 =awear 721 &
(3) (A T= 2, 9fF (R) 3100w 2

(4) (A ¥°3 2, 95 (R) T3 7

(A)
(B)
(9]

(D) 4
Answer Given by Candidate : Not Answered

W N =

SI. No.48
QBID:1002048

Anoushka Shankar is a world reknowned —— player
(1) Sitar

(2) Santoor

(3) Sehnai

(4) Sarangi

(A) 1
(B) 2
(Cc) 3
(D) 4
SR T —— i fage wfig Tes #
(1) faam
(2) FX
(3) &
(4 @
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.49

QBID:1002049




Bhagwat Geeta delineates Bhakti voga, Gyan Yoga and

(1) Karma Yoga (2) Dhayan Yoga
(3) Prem Yoga (4) Sukh Yoga
(A) 1
(B) 2
(©) 3
(D) 4
wiragftar & wfe am, g am s — #r ==i 21
(1) &b (2) = Em
(3)  WWam (1) TEIm
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : A
Sl. No.50

QBID:1002050

Mekhla sador is a traditional attire of which of the following state?

(1) Assam

(2) Nagaland
(3) Meghalava
{4) West Bengal

(A) 1
(B) 2
(c) 3
(D) 4

e mren e 8 8 fea o w ofes wfem 27

Ay FEm
(B)  ArTevE
(C)  wared
(D) ofvaw ame
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.51

QBID:1002051

NCERT is an autonomous body set up in

(1) 1961 (2) 1951
(3) 1921 (4) 1931




(A)
(B)
©
(D)

A W N =

TR e Tar ween @ P e A

(1) 1961 (2) 1951
(3) 1921 (4) 1931

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.52
QBID:1002052

A teacher is discussing ‘terrace farming’ in the class. Which of the following states is most
likely to find mention in this discussion?

(1) Nagaland
(2) Punjab
(3) Haryana
(4) Gujarat

(A) 1
(B) 2
(c) 3
(D) 4

weh fofirs wen o ‘Hidgm @t /H Hi w=i = @ B Fem o # | e w99 T\ s | B9 R
gaife gy 27

(1)  mTevE (2) e

(3)  =femn (4) TeRE

(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : A

Sl. No.53
QBID:1002053

Which type of proteolytic enzymes found in gastric juice of infants helps in the digestion of
milk protein?

(1) Trypsin (2) Rennin

(3) Amylase {4) Lipases

(R)
(B)
©
(D)

A W N =




st % o @ fee ven w1 difegemsfes oeamm o S @ S gw WER % wree | mea =
21

(1)
(3)

(A)
(B)
©
(D)

W N =

4

foefta @) tm
TS (4)

Answer Given by Candidate : A

Sl. No.54

QBID:1002054

What is the name of the primary teacher from Maharashtra who was awarded the ‘Global
teacher’ award by UNESCO?

(1)
(2)
(3)
(4)

(A)
(B)
©
(D)

A W N =

Ranjitsinh Disale
Jagtar Ingole
Mamta Paliwal

Kishore Srinivas

o - e . £ no_ 3 -, ~
HERTE F WHieE e o, 9 3501 g e Fe ORE § TG R T,

2l

(1
(2)
(3)
(4)

(R)
(B)
©
(D)

W N =

4

AT I

Answer Given by Candidate : Not Answered

SI. No.55

QBID:1002055

‘Kyunki main Ladki hoon, Mujhe Padhna Hai’ is a poem by which of these Indian feminists?

(1)
(2)
(3)
(4)

(R)
(B)
©
(D)

A W N =

Urvashi Butalia
Savitri Bai Phule
Amrita Pritam
Kamla Bhasin




‘it # wehl &, 93 ven & - 78 Higw few wweda fad g dea g0

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D) 4

W N =

sasft serfean
gt & Fe
e da|
FHHEAT WHH

Answer Given by Candidate : Not Answered

Sl. No.56

QBID:1002056

What is the full form of NCPCR?

(1)
(2)
(3)
(4)

(A)
(B)
©
(D)

Hd W N =

National Commission for Prevention of Child Rights
National Council for Protection of Child Rights
National Commission for Protection of Child Rights

National Commission for Promotion of Child Rights

T H L HL . (NCPCR) %1 90f 419 o1 27

(1)
(2)
(3)
(4)

(A)
(B)
(©
(D) 4

W N =

Fo FHIOE R HEoE ATE-aEes 122y

L

AU HEEA BE A HE GEes 5o
AT FHEE BE ARHE ATE A0S U5

v FHEE SR S 37T AT WseH

Answer Given by Candidate : B

Sl. No.57

QBID:1002057

Who of the following was not a member of the Constituent Assembly?

(1)
(2)
(3)
(4)

(A)
(B)
©
(D)

A W N =

Dakshayvani Velayudhan
Begam Aizaz Rasul

Purnima Banerjee

Kamla Nehru




frafefiga § & =+ dfaum aw % o= 4 47

(1)  gemaoft S
(2) W T e
(3)  oftf &=l
(4)  wHen TEE

(A) 1

(B) 2

(C) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.58
QBID:1002058

Padmarg (Essence of the Lotus) is a book written by

(1) Rokeya Sakhawat
(2) Mahadevi Verma

(3) Begum Zafar Ali

(4) Durgabai Deshmukh

(A) 1
(B) 2
(c) 3
(D) 4
“eHTl (FHe 1 Ted) AHS T et 8 ——— )
(1) e gEmEd
(2)  wEnee =i
(3) =W wrE ST

(4  gem S

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.59
QBID:1002059

What iz the name of the Indian reformer who founded the Anglo-Hindu College/Hindu
School, Kolkata?

(1) Ishwar Chandra Vidyasagar

(2) Savitribai Phule

(3) Rabindranath Tagore

(4) Raja Ram Mohan Roy

(A) 1
(B) 2
(c) 3
(D) 4




9 WA THTS guwe S 9 far ver-fag Fera /g wme, Sesma i wre iy

(1)  dva =g faemmm
(2) @l w5
(3) =g My
(4) TS TE A ™

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D

Sl. No.60
QBID:1002060

What is El-Nino?

(1) A narrow belt of high altitude westerly winds in the troposphere

(2) A phenomenon related to the development of a warm ocean current along the coast of
Peru

(3) An apparent force caused by the earth’s rotation and revolution

(4) A phenomenon related to the convergence of trade winds
(A) 1
(B) 2
(c) 3
(D) 4

‘S = R Y

(1)  &vgea § 3= I=3mae a9t 7t g $1 v g6l g
(2) & & ae wus m wgrdly g % fawm & gafua efemen
(3) vt & i uE ufeeEn % SR e aw
(4) =Tl gaEl & sifio & gefie afeen

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : D

Sl. No.61
QBID:1002061

Sustainable Development Goal-Life Below Water' aims at conserving and sustainably using

(1) Ground water resources
(2) Oceans, sea and marine resources
(3) Rivers, streams, ponds and lake resources
(4) Wetland and hinterland resources
(A) 1
(B) 2

(c) 3




(D) 4

T fawm @ - Fe ¥ A A= e B, 5 i vA 6 6w T e
(1) g5 JEEA

(2) TUEETR, 9FFE U9 HELE HETEA

(4)  woEel FHEA T TS TS HETE

(A)
(B)
(©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.62
QBID:1002062

ISRO’s satellite GSAT-TA was recently launched from which space station?

(1) Satish Dhawan Space Centre, Sriharikota, Andhra Pradesh
(2) Vikram Sarabhai Space Centre, Thiruvananthapuram Kerala
(3) Abul Kalam Island, Balasore, Odisha

(4) Baikonur Cosmodrome, Kazakhstan

(A)
(B)
(©)
(D)

A W N =

I % A-Fe-7A IR *I 7 & § Fha 9w & wélE e mne
(1) = gaa siafta $3, i, sigwew

@2  fosem wrovrd siafe Fz, fosarag, @

(3) IS HAW IFATE, AR, A

(1)  ETERI HEHEH, HATEEH

(A)
(B)
©
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.63
QBID:1002063

Geetanjali Sree has won Booker prize for which of the following of her novels?

(1) Hamara Shahar us Baras
(2) Ret Samadhi

(3) Khali Jagah

(4) Tirohit

(A) 1
(B) 2
(c) 3




(D) 4

o= § & form o & forn faiafer ot i g9 een & gofa e mn 27
(1) =97 Y&t 39 =iy

(2) 1@ wmify
(3 el 17
() fotifea
(A) 1
(B) 2
(<) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.64

QBID:1002064

Savitribal Phule was an Indian social reformer, eduecationist, and ——— from
Maharashtra

(1) Novelist

(2) Painter
(3) Poet
(4) Lawvyer
(A) 1
(B) 2
() 3
(D) 4
T Rl A S Bl UF WRAE GH ganE, [maag v —————— o)

(1) SUTHFR

(2) ==
(3) ETICE
(4) AT
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.65

QBID:1002065

Ambedkar memorial is located in a house in ————— where Dr. B.R. Ambedkar

(1) Delhi, breathed his last

(2) Mhow, got married

(3) Pune, had his lawyer's chamber

(4) Mumbai, taught law and constitution
(A) 1
(B) 2

(c) 3




(D) 4
AT TR —— = 35 TR H 00 R T E, el 57 S HEsE A
(1)  Toi, =1 3= 2Aia9 =" =i

(2) TR, W&l 9 {9 gam

(3) U1, SRl T TRl R AT AT
(4D) HEE, T T UE TEGW T A

(A)
(B)
(€
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.66
QBID:1002066

The guidelines issued by the Supreme Court in Vishaka Judgement related to

(1) Prevention of offences relating to girls
(2) Prevention of offences relating to marriage
(3) Prevention of domestic violence
(4) Prevention of sexual harassment of women at workplace
(A) 1
(B) 2
(©) 3
(D) 4
Fomrren e =T 3 Frofa 5 S = g ) Frn e § § P s #

(2)  ToEE W weEtag S w5 HEE

(3) e fem Famm

(4)  FEEE T AEAE F AE e FEE
(A)
(B)
(©)

(D) 4
Answer Given by Candidate : D

W N =

Sl. No.67
QBID:1002067

Who is the author of the book ‘Nationalism'?

(1) M.K. Gandhi

(2) Rabindranath Tagore
(3) Swami Vivekanand
(4) Mohammad Ighal

(A) 1
(B) 2
(©) 3




(D) 4

‘Tparg A fRam & o w27

(1) . e
(2) Tt AR
(3) =t fesEe

(4)  wHigwe shaTe

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.68
QBID:1002068

The black cotton soil of India has been formed due to the weathering of

(1) Brown forest soil
(2) Fissure voleanic rock

(3) Granite and schist

{4) Shale and limestone
(A) 1
(B) 2
(c) 3
(D) 4
R iR o 1 — o
() =g
(2) e TgE
(3) THmEe vd fine

(4 ¥ wE TR

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.69
QBID:1002069

Which one of the following elements is not associated with tropical eyclones?

(1) Violent winds

(2) Torrential rainfall
(3) Thunderstorms
(4) Dense fog

(A) 1




(B) 2
(©) 3
(D) 4

frfefian 7t § & =9 @ IokEdE wRaE 3 99 76 87

(1) wzmEe
(2)  TEemaw a9t
(3) s
(4)  ©A1 wEQ
(A) 1
(B) 2
(©) 3
(D) 4

Answer Given by Candidate : D

Sl. No.70
QBID:1002070

The ‘Arabian sea Branch’ and “Bay of Bengal Branch’ of Indian monsoon merge together over
which of the following regions?

(1) Punjab and adjoining Himalayas

(2) Central India and Western India

(3) North East India and Assam

{4) Western Ghats and adjoining sea

(A) 1
(B) 2
(c) 3
(D) 4

WA AEA 1 3" qUHE e vE Ee i @l et e fe 6 8 e el § s vh-gm |
forer wmeht @2

(1) veme vd Tk farer A

(2)  Wea wRd ud ofiem wwe

(3)  Ieqdf wwa vd swm

(4  ufvedi A v FEdd agg

(A) 1
(B) 2
(c© 3
(D) 4
Answer Given by Candidate : B

SlI. No.71
QBID:1002071




Which of the following is incorrectly matched for the nationalist newspaper and the region
where it was being circulated?

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =

The Amrit Bazar Patrika - Bengal
The Indu Prakash - Bombay
The Koh-i-noor — Bihar
The Hindu - Madras

Tgard gurEn 73 vd faa el 3 e % fag @ e d @ sle-w e i 27

(A)
(B)
©
(D) 4

W N =

7 amaran gt - =T
% 3T - ==
% I —-  fmmm

g famg - WA

Answer Given by Candidate : Not Answered

Sl. No.72

QBID:1002072

When did the green revolution in Indian agriculture begin?

(1)
(2)
(3)
(4)

(A) 1
(B) 2
(c) 3
(D) 4

Early 19508
Mid - 1950s
Mid — 1960s
Early — 1960s

Wit $f4 F 2fa wifa =1 wgum foem g 4 game

(1)

(A)
(B)
©
(D)

A W N =

1950 ITT2
1950 A&
1960 7eg

1960 905




Answer Given by Candidate : Not Answered

Sl. No.73
QBID:1002073

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) :  After the Battle of Kalinga, Emperor Ashoka was immensely moved by the

pain and atrocities as a result of the war

Reason (R) : Ashoka became a great patron of Buddhism.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

{4) (A) 1s false but (R) is true

(A) 1
(B) 2
(c) 3
(D) 4

Fr= 71 FoF faw T F : vF i (Assertion (A)) % ¥ H foREd 7 A1 551 6% FAW (Reasons (R))

FETH :

ATHFIA (A) : Fiell 95 F 915, I F THOTH TEET A 5@ 77 J9EaT B FeAaE TuiEd 2 =
R (R) : ST S 99 F1 9EM TEF 51 T

I A F AR O, 99 15 T e 8 O geh I 3 =99 it

(L) Q) 3 (R) 3 74 2 30 (R), (&) F =8 =awen 2

(2) (A 3T (R) oFi =EI &, w1 (R), (A) 1 =81 = 46 2
(3) (AT 2, ®fF (R) =1 7 2

(4) (A =FH FFE 2, o (R) TE 2

(A)
(B)
(©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.74
QBID:1002074




is a style of architecture in which doors and windows were made by placing a

horizontal beam across two verticle columns

(1)
(2)
(3)
(4)

(A)
(B)
(©
(D)

(A)
(B)
©
(D)

A W N =

W N =

4

Coebelled
Pietra dura
Arcuate
Arches

aregwmen it th Feft Ford g1 Faga @t W v dfs fin vew gE v fasfeal s o ot

(1) iees
2 fmogo
(3) IR
(4 o

Answer Given by Candidate : Not Answered

Sl. No.75
QBID:1002075

Which of the following unit of geological time scale is of the largest interval?

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

(A)
(B)
(©)
(D)

A W N =

A W N =

Epoch
Period
Era
Eon

Etaes v e i Frafefias § @ <6 & w6 998 92 siqoe $i87
(1) 77 (Epoch)

(2) HIE'S (Period)

(3) @ (Era)

(4) Hcq (Eon)




Answer Given by Candidate : C

Sl. No.76
QBID:1002076

While using maps, in a social science classroom, which of the following would be useful in
teaching visually challenged students?

(1) Ordinary Maps

(2) Digital Maps

(3) Tactile Maps

(4) Google Maps

(A) 1
(B) 2
(c) 3
(D) 4
amfas fasm £t wan |, o w4 a@ o, gfearfus e & fae B 8 8 29 aerh ofa
g
(1)  gm= gt
(20 fefrem aafm
(3)  FrEe wEfEw
(4) T e
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

SlI. No.77
QBID:1002077

“Our constitution ensures that Government system has different levels of government, which
draw their authority from the Constitution”. This description matches which of the following
features of our Constitution?

(1) Secularism

(2) Parliamentary form of Government

(3) Directive principles of state policy

(4) Federalism

(A) 1
(B) 2
(c) 3
(D) 4




‘FAT wiaaE 97 giRfvaa #ea 2 6 e o 8 gen & e w oA, e 9w o wfaam @ s a
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(1)  gafEae

(2) THLE TS TOEAT

Pl i e

(3)  T=A = HidHLTE a0

4) TEER

(A)
(B)
<
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.78
QBID:1002078

Nai-Taleem is also called as

(1) Wardha Scheme of Basic education

(2) New Era Educational Policy

(3) Eduecational Scheme of New India

(4) Educational Vision of Independent India
(A)
(B)

(©
(D)

A W N =

Eaem®E — Wi wmAa

(1) =Fuf foren g
(2)  Tagria fre g
(3) U WHa =i foem deen

(1)  TEAa WA e gfe

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.79
QBID:1002079




Match List I with List 1T

List I

(A) Ashoka and the decline of the
Mauryas

(B) The won77der that was India part II
(C) India Brief History of civilization
(D) The wonder that was India

List IT
A L. Basham

(IT)y Romila Thapar
(III) S.AA. Rizwvi
(IV) Thomas R. Trautman

Choose the correct answer from the options given helow :

(1) (A)-(IV), (B)-(I1D), (C)-(ID), (D)-(T)
(2) (A)-(I), (B)-(1I), (C)-(I1I), (D)-(IV)
(3) (A)-(1), (B)-(ILI), (C)-(IV), (D)-(I)
(4) (A)-(IV), (B)-(I), (C)-(11), (D)-(IIT)

(A) 1
(B) 2
(©) 3
(D) 4
Teft-1 % Ty geft-11 1 firem ife
get-1 Tt I
(A) 379 U 2 fegemss 3fs 2 O (I) Twue. =9
(B) 7 a9 & 9 Hgm-ud 11 (11 firem wm
(C) sfe ofiw et ste fafaemsamm (I1) wa.uu, frae
(D) 7 ==t 2 s sfem (IV) o@mm. 3E. feie
=1 feu mu ol & & g I+ =999 Hifew
(1) (A)-(IV), (B)-(I1I), (C)-(I1), (D)-(T)
(2) (A)-(Iy, (B)-(II), (C)~(ILI), (D)-(IV)
(3) (M-I, (B)-(II), (C)-(IV), (D)-(T)
(4) (A)-(IV), (B)-(D), (C)-(I), (D)-(III)
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.80

QBID:1002080




Given below are two statements :

Statement I : The Harappan civilization came to an abrupt end.

Statement 1T : Environmental degradation was one of the factors that contributed to the

decline of the Harappan civilization.

In the light of the above statements, choose the correct answer from the options given below :

(A)
(B)
©
(D)

A W N =

Both statement [ and statement II are true
Both statement [ and statement IT are false
Statement [ is true but statement I is false

Statement [ is false but statement 11 is true

fi= § wua fou M0 2 vF AfEYT (Assertion (A) % 9 H foflaq 2 @ g90 355 FWT (Reasons
R) % =78 :

sfieper (A):  FSON WA 1 ST, T B

%I (R) Tatefta s g0 BET  Tad 8 GEE o4 9T U i ol

I HYA % AT °, e fgu m fawedt # @ gew g Iw W 999 difn

(1)

(2)

(3)

(4)

(A)
(B)
(©)
(D) 4

W N =

(A) 3R (R) 21 &2t 7 3 (R), (A) i =& = 2

(A) 3R (R) 31 =& 2, S (R), (A) 1 =& =ren 78 &
(A) 7 2, 3 (R) 98 7 &

(A) & 7 2, &ifea (R) & 2

Answer Given by Candidate : A

Sl. No.81

QBID:1002081




In April 2021, which Covid-19 variant caused deadly pandemic in India?

(1)
(2
(3)
(4)

(A)
(B)
(©)
(D)

(A)
(B)
©
(D)

A W N =

Alpha
Delta
Gamma

Omicron

fr=r § & wifaE-19 =1 SH-T =ET 9HE ¥ THeE SEEE S RS 7

W N =

4

(1)
(2)
(3)
(4)

Answer Given by Candidate : B

Sl. No.82
QBID:1002082

A non violent, social and ecological movement by rural villagers, particularly women, in India
in the 1970’s, using the primary tactic of embracing trees to impede loggers is known as

(1)
(2)
(3)
(4)

(R)
(B)
©
(D)

A W N =

Chipko movement
Jungle Bachao Andolan
Appiko movement

Tehri dam conflict

1970 # Fwon g, WA AEENS G YSl W Fed W SEH % o USi F 5 FEm s Al A

TS AT, UF AEEE SIS U SHEE SREE S T 56 e A H S S 2

(1)

(2)

(3)

(4)

o HSR *
i SEEE

27t wrg T




(A)
(B)
©
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.83
QBID:1002083

‘Scientific controls’ are used in experiments to

(1) Maximize the effects of variables other than the desired variable
(2) Minimize the effects of variables other than the desired variahle
(3) Maximize or minimize the effects of variables as needed
(4) Use as spare set if the main experimental set up doesn't work
(A) 1
(B) 2
(c) 3
(D) 4

s & damfes P & s e e 2

(1)  aifea <l #t Srewt 3= =0 % wvE St sfusas $60 5 foe

(20 aifsd =0 = oew 313 90 F 99" F =T w4 5 oo

(3) W % IET T TNE B HAUE T wH w5 fom

(4  afg gea wEim gwe T g @ dhfeus w@m F dh w s fo

(A)
(B)
©
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.84
QBID:1002084

The butterfly and moth develop through the process called

(1) Mutation
(2) Transfiguration
(3) Evolution

(4) Metamorphosis

(A) 1
(B) 2
(c) 3
(D) 4




(D) e
(2)  E=uTEm
(3)  IeFa
(4)  =FEFET
(A) 1
(B) 2
(C) 3
(D) 4
Answer Given by Candidate : B
Sl. No.85

QBID:1002085
‘Wings of fire’ is an autobiography of
(1) APJ Abdul Kalam
(2) Homi J Bhabha
(3) Vikram Sarabhai

(4) CV Raman

(A) 1
(B) 2
(c) 3
(D) 4

‘firmg 3frs e feraht seaRen 27
() S FagH Ham

(2) &t S

(3)  fosm-mmowd

(4  H & o

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.86
QBID:1002086

The homologous organs are those that show similarity in their

(1) Size

(2) Funetion
(3) Appearance
(4) Origin

(A)
(B)
©
(D)

A W N =




g A AER R, Wa — ¥ mevaw feaw

(1)  ¥m=n
@ wd
(3) WHA
(4)  Iefw

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.87
QBID:1002087

Which is the oldest nuclear power plant in India?

(1) Tarapur Atomic power station
(2) Rajasthan atomic power station
(3) Kudan Kulam nuclear power plant
(4) Narora atomic power station

(A) 1

(B) 2

() 3

(D) 4

= # 5 F9 = T g wA faEm w2
(1) AW e foem a9

(2) TR WA faEE T

(3)  FsHem A {=a 59
(4) T WA =@ T

(A)
(B)
©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.88
QBID:1002088

Choose the correct statement from the ones given below :

(1) Chromosomes are present in all non-dividing cells
(2) DNA is present in the cytoplasm
(3) Genes are functional units of DNA

{4) There are 46 pairs of chromosomes in Humans

(R)
(B)
©
(D)

A W N =




fie feu T wwEl § F @ ww= gfn

(1) org wvft iR-fanfia SifEmei § deg 9 #
(2) g wEererrsT § Heg 2

(3)  of ST B FrieE g §

(4) ol B R & 46 WS B #

(A)
(B)
©
(D) 4
Answer Given by Candidate : C

W N =

Sl. No.89
QBID:1002089

Which phylum is the largest in the animal kingdom?

(1) Nematoda
(2) Arthropoda
(3) Annelida
{4) Vertebrata

(A) 1
(B) 2
(c) 3
(D) 4

7Y T | SH-H1 B gaE 991 27

(1)  =ErE
(2)  afufdrEr
(3)  wAferer
(4)  HIFH

(A) 1

(B) 2

() 3

(D) 4

Answer Given by Candidate : D

Sl. No.90
QBID:1002090

The largest artery in our body is

(1) Vena cava
(2) Pulmonary artery
(3) Aorta

{4) Cranial artery

(A) 1
(B) 2
(c) 3
(D) 4




2t o ¥ el =gt undt 7

(1) = %= (2) TR g
(3)  HEgw (4) 9T gt
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.91
QBID:1002091

What is another way of writing a+a+a+ta

(1) al (2) 4a
(3) a4 (4) aaaa

(A)
(B)
©
(D)

A W N =

a+a+a+a® @ & 5= a2 27

(1) at (2) 4a
(3) ad (4) aaaa

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B

Sl. No.92
QBID:1002092

Which of the following is an example of the identity property of addition
(1) 72+ b1=51+72 2) 3+92=95H

(3) 17T+0=17 (1) (2+4)+5=2+(4+5)

(A)
(B)
(©)
(D)

A W N =

(1) T2+ 51=51+72 (2) 3+92=96

(3 17+ 0=17 (1) (2+4)+5=2+(4+5)

(A) 1




(B) 2
(©) 3

(D) 4
Answer Given by Candidate : A

SlI. No.93
QBID:1002093

What is the sum of the Prime numbers that are greater than 50 but less than 607

() 51 (2 179
(3 112 (4) 110

(R)
(B)
(©
(D)

A W N =

50 & 9t fRg 60 & B 3taTT @M B Fel Gl 1 B Y

() 51 (2) 179
(3 112 {4) 110
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.94
QBID:1002094

If P(E)=0.05, What is the probability of ‘not E’

m 1 (2) 0.95
(3) 0.05 4 o

(R)
(B)
©
(D)

A W N =

afe P(E) = 0.5 2 a1 ‘not B’ 51 wifremen == grft 7

(1) 1 (2) 0.956
(3 0.05 (49 0

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.95
QBID:1002095




‘Pi'is a

(1) Rational Number (2) Irrational number
(3) Natural number (4)  Whole number
(A) 1
(B) 2
(c) 3
(D) 4
‘Pi, Eon %?
(1)  ufEs gen (2) swfds gen
(3) s TEn (4) o
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : B
Sl. No.96

QBID:1002096

How many different combinations does a Rubik's cube have?

(1) Approx 43 quintillion (2) Approx 43 octillion
(3) Approx 43 quadrillion (4) Approx 43 septillion

(A)
(B)
(©)
(D)

A W N =

i oA (F99) | e 7o - 376 HeEe G9E B 2 7

(1) =19 43 Tiete= (2) =TT 43 ST erEa
(3)  =IET 43 FSEE (4) =TT 43 BT
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.97
QBID:1002097

Triangles are used in constructing bridges because

(1) They flatten the force in centre

(2) They evenly distribute weight without changing their proportions
(3) They unevenly distribute weight and change their proportions

(4) They form aesthetically good looking patterns on the bridge

(A) 1




(B) 2
(©) 3
(D) 4

Fraat =1 wam Ag i # e e 2, it

(1) & sy o o1 I GHde Hd 8

(2) 92 9 9get fam g9 1 gue =9 fafe s gd #
(3) & 7OAM =9 § a9 f4afE w1, ST 95 & 8

(4) 9% diegd 6t gfe & g w go sfa Fffe w@ §

(A)
(B)
(©
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.98
QBID:1002098

The number on the opposite side of the six sided dice always add up to

(1) 6 2 7
(3 8 (4) 10

(A)
(B)
(©)
(D)

A W N =

sEad T fadn s wi S e wmamagzs — Fm Rl

(1) 6 2 7
(3) 8 (4) 10

(A)
(B)
©
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.99
QBID:1002099

Which of the following is one of the properties of a Paseal’s triangle?

(1) Each number is the sum of the two numbers below it
(2) The outside numbers are all 1
(3) The triangle is asymmetric
(4) The sums of number of rows give the powers of 3.
(A) 1
(B) 2
(€ 3
(D) 4
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(1)
(2)
(3)
(4)

(A)
(B)
<)
(D) 4

W N =
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Answer Given by Candidate : C

Sl. No.100
QBID:1002100

India currently follows which number system?

(1)
(2)
(3)
(4)

(A) 1
(B) 2
(c) 3
(D) 4

Arabie-Hindu number system
International number system
Hindu-Arabic number system

Roman Number system

WA 00 H $iA H 5= e 399 | o 8 7

(1)
(3)

(A)
(B)
©
(D) 4

W N =

st fag wen womeft (2)
feég st T worredt (4)

Answer Given by Candidate : B
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